Year 2 Worksheet 5: Addition

Question 1: Find the missing numbers.

__ +5=10 _ +8=09 6+ =9
7+ =10 4+ =7 3+ =8
_ +2=6 _ +9=11 10+ =15
5+ =10 _ +4=9  +7=12
8+ =12 6+ =12 _ +3=7
__ +10=14 | _ +8=19 __ +5=10
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Question 2: Write the following addition in the column and find the sum.
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e

25+5=_ | 43+7=_ |58+2= | 37+3=__
25
+ 05
69 + 1= 89+1= | 56+4= |(48+2=
75+5=_ | 23+7=_ |67+3=_ |95+5=__
32+8=_ |81+9=_ |44+6=__ |76+4=__
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Question 3: Add the following numbers.

2+5+3=_ | 8+3+1=_ | 4+6+2=__
9+2+7=_ | 6+4+8=__ 1+7+9=__
3+2+4=__ | 5+1+6=_ | 7+3+10=__
10+6+4=__ | 3+5+2=_ | 1+8+4=__
6+2+9=_ | 7+1+5=_ | 4+9+2=__
8+3+6=__ 2+6+4=__ 5+4+7=__
9+1+8=_ | 3+7+10=_ | 6+5+4=__
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Answer Key

Question 1: Find the missing numbers.
5+5=10 1+8=9 6+3=9
7+3=10 4+3=7 3+5=8
4+2=06 2+9=11 10+5=15
5+5=10 5+4=9 O+7=12
8+4=12 6+6=12 4+3=7
4+10=14 11 +8=19 5+5=10
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Question 2: Write the following addition in the column and find the sum.

25+5=30

43 +7 =150

58 +2 =060

37 +3 =40

69+1=70

89+ 1=90

56 +4 =60

48 + 2 =50

75+5=80

23 +7 =30

67 +3 =70

95+ 5= 100

32+8=40

81 +9=90

44 + 6 = 50

76 +4 =280
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Question 3: Add the following numbers.

\ g

2+5+3=10 (8+3+1=12 |4+6+2=12
9+2+7=18 |6+4+8=18 |1+7+9=17
3+2+4=9 5+1+6=12 |7+3+10=20
100+6+4=20 [3+5+2=10 |1+8+4=13
6+2+9=17 |7+1+5=13 |4+9+2=15
8+3+6=17 |2+6+4=12 |5+4+7=16
9+1+8=18 |3+7+10=20 |[6+5+4=15
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